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QUESTION 1

A physical standby database is kept synchronized with the primary database, through Redo Apply, which recovers the
redo data received from the primary database and applies the redo to the physical standby database. Which of the
following disaster recovery technologies is working as the above statement? 

A. LogReplecation 

B. DataGuard 

C. GoldenGate 

D. VVR 

Correct Answer: B 

 

QUESTION 2

A company\\'s daily real-time online transaction data is about 500G and 30G daily new data, the new data is frequently
called within a week after the production. The company employees 80 people, each person\\'s mailbox space is 5G, and
the average space utilization rate is 60%. For a six months demand, A company should configure which of the
following? 

A. High-performance layer 550G, performance layer 250G; capacity layer 6T 

B. High-performance layer 400G, performance layer 250G; capacity layer 7T 

C. High-performance layer 800G, performance layer 400G; capacity layer 6T 

D. high-performance layer 600G, performance layer 300G; capacity layer 7T 

Correct Answer: C 

 

QUESTION 3

Which of the following are Oracle11g logical backup methods? (Multiple choice) 

A. EXP 

B. RMAN 

C. EXPdp 

D. imp 

Correct Answer: AC 

 

QUESTION 4

Latest H13-629_V2.0 Dumps | H13-629_V2.0 VCE Dumps | H13-629_V2.0 Exam Questions                               2 / 3

https://www.pass2lead.com/h13-629_v2-0.html
https://www.pass2lead.com/h13-629_v2-0.html
https://www.pass2lead.com/h13-629_v2-0.html


https://www.pass2lead.com/h13-629_v2-0.html
2024 Latest pass2lead H13-629_V2.0 PDF and VCE dumps Download

True or False, one project adopts the OceanStor 18500 to achieve the performance of 50,000 IOPS. Enable the
SmartTier feature and configure the Layer 3 Tier configuration disk computing, high-performance layer up to 30,000
IOPS, the performance layer can reach 20,000 IOPS, capacity can reach 10,000 IOPS. This configuration will certainly
be able to meet the project\\'s 50,000 IOPS needs. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

An active-active disaster recovery solution configuration needs to be done after the acceptance test. Which of the
following acceptance scenarios business should not be affected? (Multiple choice.) 

A. Single VIS device failure 

B. Single oracle failure 

C. A single data center full failure 

D. Third-party arbitration array failure 

Correct Answer: ABCD 
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